Самостоятельная работа  3.1
Арксинус, арккосинус и арктангенс 

Вариант 1

А1. Вычислите:  
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А2. Найдите значение выражения:  
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)

31

)arcsin1arcsin1;)12arccos3arccos;

22

1

)213.

3

a

б

вarctgarctg

æö

----

ç÷

èø

æö

+-

ç÷

èø


А3. Сравните числа:   
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В1. Вычислить:    
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Самостоятельная работа  3.1

Арксинус, арккосинус и арктангенс 

Вариант 2

А1. Вычислите:  
[image: image5.wmf]32

)arcsin;)arccos.

22

a

б

æö

-

ç÷

ç÷

èø


А2. Найдите значение выражения:  
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А3. Сравните числа:   
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В1. Вычислить:    
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